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Z0OOLOGY — HONOURS — PRACTICAL
Paper : CC-12P
Full Marks : 30

Time : 2 hours

The figures in the margin indicate full marks.

1. A pure tall pea plant with round seeds were crossed with dwarf pea plant with wrinkle seeds. The F1
produced was selfed and produced 315 tall round, 108 dwarf round, 101 tall wrinkle and 32 dwarf wrinkle
plants. Find the goodness of fit of the given data for the ratio9 : 3: 3 : 1.

(Hypothesis 2, Calculation 5, Comment on result 2, Inference 1) 10
2. Identify the given chromosomal aberration. Mention its cause and effect. (2+2+1)x2
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3. Describe the given pedigree along with analysis and inference. 34611
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